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EXAM DATE : 11-September-2016
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TOTAL MARKS : 200

Question 1.Select the related word/letters/numbers from the given alternatives:

& 72 faewedt 7 @ Hafeerd eree)sarl/aear & gfav
BIRD : AEROPLANE :: FISH : 2.

qell : gaTSSIgTeT & FSel & 2
Options:

1) FISHERMAN

HGIRT

2) SOFA

Hrer

3) BOAT

A

4) GLASSES

AT

Correct Answer: BOAT
BICE

Candidate Answer: BOAT
GIC)

Question 2.Select the related word/letters/numbers from the given alternatives:

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)
DCBA : WXYS :: TIKL : ?

Options:

1) SRQP

2) QPON

3) RQPO

4) PONM
Correct Answer: RQPO
Candidate Answer: RQPO

Question 3.Select the related word/letters/numbers from the given alternatives:

3 1 ol & @ Haferd eree) 3R/ aedr # g
381:160: :478 :?

Options:

1) 347

2) 357

3) 247

4) 257
Correct Answer: 257
Candidate Answer: [ NOT ANSWERED ]

Staff Selection Commission
(Government Of India)

Challenges

CANDIDATE NAME : MOTURU SATISH KUMAR
EXAM START TIME : 10:00:00

EXAM DURATION : 01:15 Hrs

TOTAL NO OF QUESTIONS : 100



Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.

3 I ot 7 @ fawe erse/ 3teR/dEaT giaw|

Options:
1) Affluent
HHg

2) cRich

beeict

3) Prestigious

gfaffsa

4) Well-to-do

GRigTel

Correct Answer: Prestigious

gfafesd

Candidate Answer: Rich
eTdTeT

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

&3 T fashodl / § fawH erec/ 3HeR/EEar giav|

Options:
1) OMQ

2) TPR
3) TRV

4) VTX
Correct Answer: TPR
Candidate Answer: TPR

Question 6.

For the following questions

Find the odd word/letters/number pair pair from the given alternatives.

& 2 ot 7 & fawe ersey sreRy/dear Zoa gfav)

Options:
1) 8-11

2) 14
3) 7-10

4) 3-5
Correct Answer: 3-5
Candidate Answer: 3-5

Question 7.Arrange the following words as per order in the dictionary.
AT 2sel &Y Aseehier # T 1T 3 & IER v |

1.Launch 2. Laugh 3. Lattice 4. Latent 5. Latitude



Options:
1) 4,5,3,2,1

2)4,3,51,2
3)4,51,2,3

4)4,51,3,2
Correct Answer: 4,5,3,2,1
Candidate Answer: 4,5,3,2,1

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TAFATATAT Teat & Ueh 3ieTehed T 121 §, Forast veh ue oed | few 1w faenedt 7 el faehed g it 31egshet 1 @1 1|

XFB,UGD ,RIG ,0OLK, ?
Options:

1) OUJ

2) LNK

3) LPP

4) OLM
Correct Answer: LPP
Candidate Answer: LPP

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
T 97T fashed # & FET Soak Yo T araeh Tieg & T W o f@v]

1,2,4,7,2,16
Options:
1) 14

2)8

3) 11

4) 15
Correct Answer: 11
Candidate Answer: 11

Question 10.A & B are married couple. X and Y are brothers. X is the brother of A. How is Y related to B ?

A 3 B aFafeT &1 X 3T Y o8-S ¥1 X, A &1 1S &1 Sa20 Y 7 B & 1 ey § ?
Options:

1) Brother-in-law

Arell/ AR /aEATg/ ST

2) Brother

EIEY

3) Son-in-law

CIHE

4) Cousin

FHioeT

Correct Answer: Brother-in-law
e/ Sa/agatg/ St

Candidate Answer: Brother-in-law

TN/ aR/ae=S) ST

Question 11.A is shorter than B but taller than C. D is shorter than A but taller than C and E is shorter than B but taller than A. The shortest person is ?

A BEDITE AfRT CHFETEI D, A A BT § ofehel C A FaT ¢ 3T E, B A BIT &, AfeheT A T ol &1 T4 BIeT Ifad T g ?

Options:
1)B

2)C
3)A

4)D
Correct Answer: C
Candidate Answer: C



Question 12.From the given words, select the word which cannot be formed using the letters of the given word.
rATaf@d fashed & & 95 2ec AT it feT 1T 2lee & 31eRT T TIWT Ik 761 TAT ST Hehell|

DISSERTATION
Options:
1) SISTER

2) STATION
3) DIRECTION

4) RATION
Correct Answer: DIRECTION
Candidate Answer: DIRECTION

Question 13.IfA =1,
E=5,

then HEAR =?
IEA=1,

E=5%,

T HEAR = ?
Options:

1) 38

2) 32

3)31

4) 30
Correct Answer: 32
Candidate Answer: 32

Question 14.If P denotes +, Q denotes -, R denotes '+, and S denotes X, then: 18536R12Q6P7 = ?

AP ARl Y, QA R H TS X A, d
18S36R12Q6P7=?

Options:

1) 115

2) 65
3)55

4) 25
Correct Answer: 55
Candidate Answer: 55

Question 15.Some equations have been solved on the basis of certain system. Find the correct answer for the unsolved equation on that basis. If 98-39-27=31, 87-
38-34=20, then 79-25-12 =2

TS FHHIOT U 15 & HTUR R gel fohd 10 §1 38 TR 9T S FHAIOT el 61 T 78 § IHT Fel Sea 701 TS ? I 98-39-27=31, 87-38-34=20 af 79-25-12 = ?

Options:
1) 51

2) 22
3) 42

4) 15
Correct Answer: 51
Candidate Answer: 51



Question 16.Select the missing number from the given responses:

Tow 10 fashed & & ocd HEET #A1 HIfIT ?

7 14
4 12
6 24

Options:
1) 14

- O | A

2) 16
3)21

4) 22
Correct Answer: 16
Candidate Answer: 16

Question 17.Rahul walks 30 metres towards south. Then turns to his right and starts walking straight till he completes another 30 metres. Then again turning to his
left he walks for 20 metres. He then turns to his left and walks for 30 metres. How far is he from his initial position?

gl GfEToT feRm r 31X 30 FeX ek &, HX T e Az WY 30 AT IR T &1 R 5 ST 73R 20 FX TAdm &1 AR O GIRT & ST 75T 30 FIR TIeT &1 I8
Q3T g & el g R 2
Options:

1) 50 metres

50 #ex

2) 30 metres

30 #Hiex

3) 10 metres

10 #Hrex

4) 60 metres

60 Hex

Correct Answer: 50 metres
50 X

Candidate Answer: 50 metres
50 #eX

Question 18.1, II, III & IV. You have to consider the statement to be true, even if it seems to be at variance from commonly known facts. You have to decide which of
the given conclusions, if any, follow from the given statements.

Statements:

1. All teachers are actors.

2. Some actors are women.

Conclusion:

1. All teachers are women.

I1. Some women are teachers.

III. Some women are actors.

V. All actors are teachers.

TR U & U IT & aoFded Y 713 §, foh 3T 4 s/ Aegag, 1, 11, 111 3R IV [Aerel 3 §1 3T9ehY RaR R & & aoFded e § O1g 98 =g e
T feet I 8T 81| 3TIeR! v Fa § o o are gordey & @ Fia-ar R fYaa &9 & Ty T/ Aadr fasrer s aehdT & ?
Y

1. T FRBTH FHoTAR &

2. o FHelhR FAfgeT &

fooiT

1 Tafr YT Afged € |

11 T Afgart e g

111 & AfFeT FelhR 1

IV T3f e et & |

Options:

1) Only Conclusion I follows

Fael A Hy I TEI§|

2) Only Conclusion II & IV follows

ool fvhy 11 & IV T §

3) Only Conclusion III follows

Sael SRy 11T TE &1

4) None of the conclusions follows.

=T § IS s TEr 18T &1



Correct Answer: Only Conclusion III follows

ad forsay 11T TEr &l

Candidate Answer: Only Conclusion III follows

Fad sy 111 T8 ¥

Question 19.How many triangles are there in the following figure PQRS?

TArATaf@a 3mehfal PQRS # fohelet FRIST & 2
P \\ . -//" f/}_// Q
g *
= — I§<T —

- ™
R S
Options:
1) 12
2) 20
3)24

4) 28
Correct Answer: 28
Candidate Answer: 20

Question 20.Identify the diagram that best represents the relationship among classes given below: Stationery items, Pencils, Potatoes

a8 3G gird St v e o et & ey | Goaey i AT ¥ | et wwf, afewe, e

Options:
1)

3)

a)

©
O |



qur_ect An;w_er:

@

Candidate An;wer: )

@

Question 21.Which answer figure will complete the pattern in the question figure?

e SeaT-3mepfer sreat-3mmepfar & gfcred @1 oqur el ?

S
%,

Options:
1)

T |

@

2)

Q)
3)
4)




Correct Answer:

T |

%)

Candidate Answer:

T |

%)

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

T 10 fashedt & & 36 Scck HTpia FF YiAT Tl geaT 3mepid e 81




Options:
1)

(;orrect Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I fordt hrarer 1 7 e et 3Mpfey % 3TN AISH et ST A Wielet % A1 a6 oy eak ATl Sk frs e 2

I |
N i
e !
::l,/' N 1'0\"\ |
- 5 410l |
+ N |70 O 0N
I D O i |




Options:
1)

2)

3)

4)

000
000

0

Correct Answer:

Candidate Answer:

o
ogoo
000 | 000
o
o8O

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I T TIOT T MN €T OR T@T AT AT & 18 Seall ITHicral 7 F alar-Ar 3mepfar weat ey o @ gfafaes gl 2

=

2




Options:
1)

Correct Answer:

Candidate Answer:

&




Question 25.In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix IT are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g.,A can be represented by 02, 14, etc.,
and 'O’ can be represented by 55, 67, etc. Similarly you have to identify the set for the word 'LEND'

TS G el T GEAT-HHg GaNT &RIT 10T &, i T fasrentt # & fordlr vep o foam oram &) faepedt 7 foT 970 wear opg 31eRT & ar aeif g arifv o1w §, o for iy fw
1T &Y TRl 7 81 3Megg I & FoT R Tkl T FEar 0 9 4 3R 3megqg I 7 5 8 9 & 918 §1 57 3T ¥ Ueh BN 1 Tged 30T Tarel 3R T16 7 T HET gan aeiin
ST EHCT &1 JEERT & T 'A' Y 02, 14 31T SR &R ST Hehell & T 'K ' Y 55, 67 JHTTer SeRT GRIAT ST Fehell {1 S 71¥E A 39T 4T §T 21 'LEND' & AT Fofg

TEAAAT ¢

MATRIX | MATRIX |1

lo[1]2]3 4k |5 |6 7|83
ole|s{aft[m|[s|o|p[U[N|F
1{CImle[s [a|[s/n[ [0 DT
2(S|A|L|M|E||7|D|U|N|F|O
3/M|E[s[a[L||8|F |0/ D[ U[N
alalL|m|e[s]|9|u]|N| Fl oD
Options:

1) 34, 43, 40, 56
2) 10, 31, 77, 99
3) 41, 12, 41, 59

4) 22, 14, 65, 75
Correct Answer: 10, 31, 77, 99
Candidate Answer: 10, 31, 77, 99

Question 26.Intensive cultivation refers to

T Wt T TFawy e g ?

Options:

1) production with intensive use of labour

HH & b 3R H 39T

2) production with intensive use of fertilizer

3 & T 3TAT I 39T

3) raising production by intensive use of existing land
Hisier #fA & FEeT 3uAT § 3uST See

4) raising production by large scale use of imported inputs
Frfad fael & 93 3= 9% 39T @RI 39S et

Correct Answer: raising production by intensive use of existing land

Fisier #fA & FEeT 3uAT § 3uS See

Candidate Answer: raising production by intensive use of existing land

Fitsper A & FueT 39T § 3US T

Question 27.Upon winning Wimbledon Women's Tennis Tournament 2016, Serena Williams equalled record 22 Grand Slam wins of

TaerossT Afger S Toeee 2016 Sider & a1g WX faforre s & 22 3us WA Siider &1 Rels fres S g1 aram ?
Options:

1) Martina Navratilova

AféaT AaIaear

2) Steffi Graf

TEH IR

3) Martina Hingis

e e

4) Maria Sharapova

ATRIT RTITET

Correct Answer: Steffi Graf
T IR

Candidate Answer: Steffi Graf
T IR

Question 28.A universal donor has the blood group

T AT T 513 I FAT BIeAT &



Options:
1)B

2) AB
3)A

4)0
Correct Answer: O
Candidate Answer: O

Question 29.Amir Khusro was a

3R G HT & ?
Options:

1) poet

Ffa

2) play writer
A & oEH

3) painter

[EECary

4) architect
AREdPR

S
Correct Answer: poet
Hia

Candidate Answer: architect
ATEJPR

S

Question 30.The members of the All India Services serve the

31Tl ARART AaT & T fohaehr dar aid & ?
Options:

1) Central Government only

ol dheg AN

2) State Government only

Fad T THR

3) Union Territories only

Sadl Y AT &

4) both the Union and State Governments

g 3R T57 TWHR g=Ar

Correct Answer: both the Union and State Governments
a9 3R T5T WHR ger

Candidate Answer: Central Government only
FIA Feg BN

Question 31.The term of office of the Vice-President of India is

R o 3T-ISUTY ST HIehTel fhel=TT 2laT & ?
Options:

1) 4 years

49§

2) 5 years

5ay

3) 2 years

299

4) 6 years

6 ay

Correct Answer: 5 years

59%

Candidate Answer: 5 years

59%

Question 32.Who was responsible for the integration of princely states into the Indian Union after Independence

Tl & d1E RIATTAT 7 IR TG & THoT Hite? & v et eier & ?



Options:

1) Sri Rajagopalachari

T TSIMITaRT

2) Pt. Jawaharlal Nehru

9, SATER el g

3) Sardar Vallabh Bhai Patel

TER Tootd 55 qeeT

4) Maulana Abul Kalam Azad

AT T el 3ol

Correct Answer: Sardar Vallabh Bhai Patel
TSR Tooldl §IS Tl

Candidate Answer: Sri Rajagopalachari
IR LI CIE IR

Question 33.Why does the west coast of India receive more rainfall from southwest monsoon than the east coast?

STRUT-I TR ARG & R & qdf-de T 36T 9fRael I o S2amer au 47 gt § ?
Options:

1) Unlike the east coast this coast is straight

Tdf-ae &I 96T I o AT

2) The Western Ghats obstruct the winds causing rainfall

9fRTe g7e gaT I Akl § Torad SR @ §

3) The east coast is broader than the west coast

ot de, IR de A disT §

4) The Eastern Ghats extend parallel to wind direction

odt ae gar i G & T §

Correct Answer: The Western Ghats obstruct the winds causing rainfall

ST B7e gaT i Jehell § ToTad STRET BIell &

Candidate Answer: The Western Ghats obstruct the winds causing rainfall

ST B7e gaT I Jehell § ToTad TR Bl §

Question 34.The plateau that has both West and East flowing drainage system is

IF TOR HisT-AT § ForasT qiRest 3R qd gt 31 SeT aTell otef oiehmd JoTen ¢ ?
Options:

1) Malwa

Hlear

2) Chota Nagpur

BIET AFTR

3) Ranchi

T

4) Hazaribagh

EEEELT

Correct Answer: Malwa
HeldT

Candidate Answer: Malwa
Hiedar

Question 35.Symbiotic Bacteria responsible for the fixation of atmospheric nitrogen are present in

RafFa3ifes Ry St for ardaRoier ArsgisrT & RRIRaor & fav caverlt §, R arm ST 8
Options:

1) peas

A H

2) wheat

A

3) corn

FFRT H

4) oats

S

Correct Answer: peas
A H

Candidate Answer: corn
FHFRT

Question 36.Children especially in western countries who receive very little sunshine suffer from

eI uiREs 32 S g g T g9 FH gIed R U 8, § Frea af@a g g ?



Options:

1) rickets
Repca @

2) dermatitis
TSt o

3) scurvy
Thar &

4) kwashiorkor
FATTANR &

Correct Answer: rickets
Repca @

Candidate Answer: rickets
Repca @

Question 37.In water treatment plant, use of chloramines ensures

el 3UER 6T A FANIAG & FANeT A 41 GiaTRerd fpar S g ?
Options:

1) taste and odour control

16 3R a1ty =T

2) weed control in reservoirs

RAaTR & TUAaR =0T

3) disinfection

TargshatoT T

4) removal of permanent hardness

T HORAT & AT

Correct Answer: disinfection

[CRET kD

Candidate Answer: removal of permanent hardness

BT FHIRCAT G FeAT

Question 38.Super cooling stands for cooling of a liquid :

R FHFolaT T AT el o Tohay foig o) Meerar 4 & 2
Options:

1) at freezing point

fo#eR

2) below freezing point

GEEGIC]

3) at melting point

IeAATH TN

4) above melting point

AT H TR

Correct Answer: below freezing point
s & A

Candidate Answer: at melting point
Ielelich I

Question 39.Alcohol is more volatile than water because is lower than water

Tealgdl TTT & 318 arsaeiier giaT & Fifes 1A & e gIaT B
Options:

1) its boiling point

3R FaYATHR

2) its density

3T Yolcd

3) its viscosity

3R AT

4) its surface tension

3T 9o delld

Correct Answer: its boiling point
3HH FaYATHR

Candidate Answer: its viscosity
ELEIRTIC I

Question 40.Which of the following is used to protect objects in computer system, in the absence of more complete protection schemes?

FrogeY foeeA #, 31t ot el & 31e7a 7 Al i TR a0 & fov eafaf@d 3 & frae s fear sar g ?



Options:

1) digital certificate
f2fSreer aféfrhe
2) digital signature
fEfotee Reaax

3) passwords
BIRiCES

4) tokens

[acTy

Correct Answer: passwords

qrHTS

Candidate Answer: passwords

qrHTS

Question 41.Which one is not included in Non-Banking Financial Institutions (NBFIs)?

Non-Banking Financial Institutions (NBFIs) & shleT @ferfaid s1g1 ¢ ?

Options:
1) EXIM

2) SIDBI
3) NABARD

4) BOIL
Correct Answer: BOI
Candidate Answer: [ NOT ANSWERED ]

Question 42.Which method will be employed to test the hardness of water?

AT T FHARAT HT ST el o forw v fafy st g=ier fRar Srar g 2
Options:

1) Boiling

FaUeT

2) Distillation

3madeT

3) Formation of lather with soap

TG & ST AT

4) None of these

SAH QS ET

Correct Answer: Formation of lather with soap
TG F ST AT

Candidate Answer: Distillation

3madeT

Question 43.Who is the first Indian Gold Medal Winner in individual category in Olympic games?
3icife Weit & Tahel 997 & TUT Ugeh Shde daTel Tget AR e §7?
Options:

1) Abhinav Bindra

KBS CREE]

2) Sushil Kumar

Rl AR

3) R.V.S.Rathore

3R, Y. TE. W

4) Leander Paes

fousT 4|

Correct Answer: Leander Paes

foust o

Candidate Answer: Abhinav Bindra

HF=T far

Question 44.Which is the warmest layer of the atmosphere?

GTTERYT T T a3 R HieT-A g ?



Options:

1) Thermosphere
AfERRR

2) Troposphere
AR

3) Stratosphere
FATHRR

4) Mesosphere
AARERRIT

Correct Answer: Thermosphere

yAfefRRT

Candidate Answer: Troposphere

e

Question 45.A universal donor has the blood group

TS FICTAT &1 1S T FAT el &

Options:
1)B

2) AB
3)A

4)0
Correct Answer: O
Candidate Answer: O

Question 46.The Siachin Glacier's melting waters are the main source of which of the following rivers :

WW¢Wﬁmmmmwmma ?
Options:

1) Bias

=g

2) Sutlej

GeTofol

3) Shylok

B cal

4) Nubra

R

LY
Correct Answer: Nubra
BCRU

Candidate Answer: Sutlej
"ol

)

Question 47.Thomas Cup is associated with which of the following sports?

ATAT 9 7 e & grafeyd § 2
Options:

1) Cricket

forehe

2) Football

el

3) Basketball

Elrsrcic

4) Badminton

CEEo

Correct Answer: Badminton
SsffwesT
Candidate Answer: Football

19

Hedlel

2
Question 48.The famous work 'Anandmath' was written by

9ffg i '3eiee 7' & w@iAdr i § 2



Options:

1) Sri Aurobindo

AT 3RfSer

2) Sri Bankim Chandra Chatterjee
ot i Tog Test

3) Sri Rabindra Nath Tagore

A Mg Ay SR

4) Sri Aarti Chaudhary

A7 3T Ferdy

Correct Answer: Sri Bankim Chandra Chatterjee
A 5 Tog T

Candidate Answer: Sri Aurobindo

o aRfser
Question 49.Who introduced the term 'Hindu rate of growth' ?

*Hindu rate of growth' 2isg fohaet yeaifad fomar ?
Options:

1) Amartya Sen

AT BT

2) Raj Krishna

RiE) EEUUW

3) V. K. R. V. Rao

AT @

4) Kaushik Basu

ERIRCOCIE:

Correct Answer: Raj Krishna

T[T T

Candidate Answer: Kaushik Basu

ERIRCICIE:

Question 50.The BRICS New Development Bank (NDB) has been set up for

BRICS st New Development Bank (NDB) f&ra forw sifsa fram & 2

Options:

1) Funding infrastructure projects in emerging economics for sustainable development
3R g% refeaaamsit # ReR e & foe 3meR wvee fAeiee

2) Funding non-infrastructure projects in emerging economics for sustainable development
IR §% Jrfcaaemsit # R fashr & faT 3R e fAdies

3) Funding infrastructural projects in developed countries

T St # 3MUR T e

4) Funding infrastructural projects in BRICS countries only

FaeT BRICS 2RI # 3MUR T el wrisher

Correct Answer: Funding infrastructure projects in emerging economics for sustainable development
IR 5§ HcaaEABT # R frehr & foT 3R G e

Candidate Answer: Funding infrastructure projects in emerging economics for sustainable development
3R §§ oaaw # R fashrd & fov 3R G et

Question 51.A can do a piece of work in 9 days while B can do it in 12 days. A and B together can do the work in

A fordr 1o T 9 a7 1 T &Y TRl § | STafen B 39 12 Tt 3 &Y T 51 A 3R B Aot 30 foncter et 3 oqur e wdat 2



Options:

Correct Answer:
1
5 o
days

5_
7 fm

Candidate Answer: [ NOT ANSWERED ]

Question 52.A retailer gets a discount of 40% on the printed price of an article. The retailer sells it at the printed price. His gain percent is

Teh ekt Taishdl fohell o o 3iTehdl T T 40% T e JTed Xdl &1 T et Tdshall 38 3ifehed Hed U S=icll § ot 38 fohelel Slaiere aer glam ?

Options:
1) 40

2) 55

3)
662
3

4)75

Correct Answer:

662
3

Candidate Answer:

662
3

Question 53.A mixture contains spirit and water in the ratio of 3 : 2. If it contains 3 litres more spirit than water, the quantity of spirit in the mixture is

T AT 7 RaRe 3R Il 3 ¢ 2 & J1eareT 3 &1 AT $H et B Jofet 3 3 X 3ifeeh FeaiRe g, ot ffvwor 3 Reaie 1 A foheiar & ?
Options:

1) 12 litres

12 &

2) 10 litres

10 efeX

3) 9 litres

9Tl

4) 8 litres

8 TheX

Correct Answer: 9 litres
9 olex

Candidate Answer: 9 litres
9 dlrex



Question 54.If the cost price of 25 pens is equal to the selling price of 20 pens, then the profit percent is

FfE 25 U1 T AT Fe 20 UaiT & ThT Hod o ae g, AT fecter wferere omey gram ?

Options:
1) 20%

2) 25%
3) 15%

4) 5%
Correct Answer: 25%
Candidate Answer: 25%

Question 55.A number is decreased by 10% and the resulting number is again decreased by 20%. What is the final percentage of decrease?

TS TEIT A 10% e FRaT ST & 3R IR T&ar & R 20% F RaT SITdT &, JF 37 & Sel 7 Iiaerd F41 §T ?

Options:
1) 25%

2) 26%
3) 27%

4) 28%
Correct Answer: 28%
Candidate Answer: 28%

Question 56.The distance between two places A and B is 60 km. Two cars start at the same time from A and B, travelling at a speed of 35km/h and 25km/h,
respectively. If the cars run in the same direction, then they will meet after ( in hours)

& At A 3R B & e Y gt 60 T AL &1 &Y R wen & wE A 3R B & <ol % T § 3R e 35 forn e, gfrder 3w 25 fan A ufereier iy arfey & wrerch &) 3l
AT FN T &1 o 3 <orelt § ot F e T (612) a1 et ?

Options:
1) 6.5

2)6.2
3)6

4) 6.52
Correct Answer: 6
Candidate Answer: 6

Question 57.The sum of money that will yield (160 as simple interest at 6% per annum in 5 years is

Tg T a7 gl for g o 5 anf & 6% 93 a¥ & e¥ 9 5. 60 TRT sT1eT THeleT ?

Options:
1) 200

2) 225
3) 175

4) 300
Correct Answer: 200
Candidate Answer: 200

Question 58.If x , y, and z are real numbers such that (x - 3)2 + (y - 4)2 + (z - 5)% = 0 then (x+y+z) is equal to

g x, y 3R z WAy arefas et § & (x - 3)2 + (y - 4)2 + (2 - 5)% = 0 &, d (x+y+z) fh&h sXre) g ?

Options:
1) -12

2)0
3)8

4) 12
Correct Answer: 12
Candidate Answer: [ NOT ANSWERED ]



Question 59.
Sx

) :
P2+ 37 =S thevalueof o 20x+1 ©

Sx
6x2+20x +1

o 20+ 3= 5T
HTAF RS ?

Options:
1) 1/4

2) 1/6
3) 1/5

4) 1/7
Correct Answer: 1/7
Candidate Answer: [ NOT ANSWERED ]

Question 60.The orthocentre of a triangle is the point where

T T33TST T ofd sherg; ShleT-4T feg Bl & ?
Options:

1) the medians meet

Stgt AT Ao §

2) the altitudes meet

TG oA der fAera §

3) the right bisectors of the sides of

STl FHReT 1 ST 5 wia afawTeR e €|
4) the bisectors of the angles

1T ger & it 3 fsmern et €1
Correct Answer: the altitudes meet
ERECCINAE LS

Candidate Answer: [ NOT ANSWERED ]

Question 61.ABCD is a cyclic trapezium in which AD || BC. If ZABC = 70°, then «BCD is

ABCD Te Tshis Teeid & forae AD || BC §1 Ife &IuT LABC = 70° 81 dt ~BCD T AT 4T 191 ?

Options:
1) 110°

2) 80°
3) 70°

4) 90°
Correct Answer: 70°
Candidate Answer: [ NOT ANSWERED ]

Question 62.1If cos 27° = x, the value of tan 63° is

Ife cos 27° = x @Y, aY tan 63° T Al T 9T ?
Options:
1)

X

':
V1 —x?

v1+x2

3)

\.'1_;{-2

4)
v1+ X2
x

Correct Answer:
X
V1 —x2

Candidate Answer: [ NOT ANSWERED ]



Question 63.The sum of 10 terms of the arithmetic series is 390. If the third term of the series is 19. Find the first term

3RO AEreT Y 10 TEAT3 7 T 390 T el Al H&ar 19 ¥ ugel H&ar A1 Hifaw ?

Options:
1)3

2)5
3)7

4)8
Correct Answer: 3
Candidate Answer: 7

Question 64.The average of marks obtained by 100 candidates in a certain examination is 30. If the average marks of passed candidates is 35 and that of the failed
candidates is 10, what is the number of candidates who passed the examination?

TR o 3 100 3FeaRt garT uredie & it 30 §1 afe Sl 3eiieart & it @ st 35 ¥ 3R 3eecoT 3ItiaRt & i 10 §, Y TR # SecoT 3FfeaRt
&1 e e § ?

Options:
1) 60

2) 70
3) 80

4) 90
Correct Answer: 80
Candidate Answer: 90

Question 65.If a + b = 10 and ab = 21, then the value of (a - b)? is

afda+b =103 ab =218, a9 (a - b)? & AT 71T X ?

Options:
1) 15

2) 16
3)17

4) 18
Correct Answer: 16
Candidate Answer: 16

Question 66.If (x - 4) (x2 + 4x + 16) = x3 - P, then P is equal to

I (x - 4) (% + 4x + 16) = x3- P &), A« P fhas s & ?

Options:
1) 27

2)8
3) 64

4)0
Correct Answer: 64
Candidate Answer: 64

Question 67.G is the centroid of AABC. If AG = BC, then measure of 2BGC is

G, T3e[eT ABC &7 shegeh &, Ife AG = BC , A 2BGC &I AT FaT ¢ ?

Options:
1) 45°

2) 60°
3) 90°

4) 120°
Correct Answer: 90°
Candidate Answer: [ NOT ANSWERED ]

Question 68.In a circle, a chord, 5v2 cm long, makes a right angle at the centre. Then the length of the radius of the circle will be

T gool A 5v2 A, ol Sar dheg; 7 FHBIOT STl &Y, A geod i Fsam T owarg et gt ?



Options:
1) 2.5cm
2.5 |
2)5cm
5 q..
3)7.5cm
7.5 9.,
4) 10 cm
10 @7

Correct Answer: 5cm
5 q.a.

Candidate Answer: 5 cm
5 3.3,

Question 69.If cos?x + cos*x = 1, then tan?x + tan?x =

T cos?x + cos?x = 1 &), aY tan?x + tan*x &1 AT =T g ?

Options:
1)0

2)1
3) 2tan®x

4) 2tan*x
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 70.The angle of elevation of an aeroplane from a point on the ground is 45°. After flying for 15 seconds, the elevation changes to 30°. If the aeroplane is
flying at a height of 2500 metres, then the speed of the aeroplane in km/hr. is

ST o) et i & Ua Tt &7 Seetetier 45° §1 15 Wehs 3541 & Qg Serciiar Heas 30° g S §1 A e 2500 #ex i Far$ W 33 W7 &, e Hr arfy Ry
F.a/aer g ?

Options:
1) 600

2) 600 (V3 + 1)
3) 600 V3

4) 600 (V3 - 1)
Correct Answer: 600 (V3 - 1)
Candidate Answer: [ NOT ANSWERED ]

Question 71.Thousand solid metallic spheres of diameter 6 cm are melted and recast into a new solid sphere. The diameter of the new sphere (in cm) is

1 % 6 .77, TAH dTel Teh GOl O IiToll ohl ITAhT 36 Ueh 1T O IiTel & Grell SIIelT & | 77T Iivel 1 AT fehctel (H..) 1T ?

Options:
1) 30

2) 90
3)45

4) 60
Correct Answer: 60
Candidate Answer: [ NOT ANSWERED ]



Question 72.The graph shows the production of food grains of a country in different years. Study the graph and answer the questions.

I 7 R oxr & faffeeT asf & 3cutesT #r exfr =T §1 A1 1 3 fiforw siRfAm=faf@d geat & 3cax i)

40

30
1980 1983 1934 1383

1981 1982

L=}

=

Preduction of Food Grains (in thousand tonnes)
=

Yaars
The sum of the production of food grains in the year 1982 and 1984 is equal to that in the year:

¥ 1982 3R 1984 7 WIHTewT & 3cUTGeT &I ART fohl IW o ScdTee o aXET & ?

Options:
1) 1980

2) 1981
3) 1983

4) 1985
Correct Answer: 1981
Candidate Answer: [ NOT ANSWERED ]

Question 73.The graph shows the production of food grains of a country in different years. Study the graph and answer the questions.

T 7 Y o1 & faffeet asf & 3cutesT Y =i 7127 §1 A6 1 3T Hifow siRAm=fafad geat & 3caw SfST]

40

30
1980 1983 1934 1385

1981 1982

(=]

=

Preduction of Food Grains (in thousand tonnes)
=

Yaars
The difference of the production of food grains for the year 1981 and 1985 is

¥ 1981 3T 1985 & WiehTe=11 o IcdTeeT &l X fhaaT & ?
Options:

1) 500 tonnes

500 e

2) 1000 tonnes

1000 es7

3) 5000 tonnes

5000 &=

4) 10000 tonnes

10000 e=7

Correct Answer: 5000 tonnes
5000 &=

Candidate Answer: [ NOT ANSWERED ]



Question 74.The graph shows the production of food grains of a country in different years. Study the graph and answer the questions.

a1 7 R oxr & faffieeT auf & 3cutesT #r exfar =T §1 A1 1 e fiforw siRfAm=faf@d geat & 3cax dfST]

40

30
1980 1983 1934 1383

1981 1982

L=}

=

Preduction of Food Grains (in thousand tonnes)
o

Years
The percentage increase in production from 1984 to 1985 was

a¥ 1984 A 1985 T Iculeet # febetoy faierd Jfe €% 2

Options:
1) 15

2) 30
3)50

4) 100
Correct Answer: 100
Candidate Answer: [ NOT ANSWERED ]

Question 75.The graph shows the production of food grains of a country in different years. Study the graph and answer the questions.

T A Y oxr & faffeet auf & 3cuteeT Y =i 31T §1 A6 1 g Hifow siRAm=faf@d geat & 3cax SfST]

40

30
1980 1983 1934 1385

1981 1982

(=]

=

Preduction of Food Grains (in thousand tonnes)
)

Yaars
The two consecutive years in which rate of change of production of food grains is minimum are

T FlA-T & IeaRicaR IY & ToNeTo WleTeail & 3cdTee Hhr IR X Tad i § ?
Options:

1) 1980 and 1981

1980 3i¥ 1981

2) 1982 and 1983

1982 31k 1983

3) 1984 and 1985

1984 3ik 1985

4) 1983 and 1984

1983 3iiT 1984

Correct Answer: 1980 and 1981
1980 3i¥ 1981

Candidate Answer: [ NOT ANSWERED ]

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

NONPLUSSED



Options:

1) INJURIOUS
2) ABUSIVE
3) PUZZLED
4) ENORMOUS

Correct Answer: PUZZLED
Candidate Answer: ENORMOUS

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

VISIONARY

Options:

1) REALIST

2) ARTIST

3) IDEALIST

4) SOCIALIST

Correct Answer: REALIST

Candidate Answer: REALIST

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Desorientation

2) Disorientetion

3) Dysorientation

4) Disorientation

Correct Answer: Disorientation

Candidate Answer: [ NOT ANSWERED ]

Question 79.1n the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I will not (A)/stay here another minute (B)/if I can help it! (C)/No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Roger dressed (A)/in is best shirt, (B)/ silver tie and black jacket (C)/No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

They are looking forward (A)/to meet (B) /their parents (C)/No Error (D)
Options:

1) A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

You are common sense
Options:

1) lacking of

2) devoid in

3) devoid of

4) dull on

Correct Answer: devoid of

Candidate Answer: devoid of



Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

He ran so fast

Options:

1) that he fell

2) so he fell

3) he fell

4) that he is falling

Correct Answer: that he fell

Candidate Answer: that he is falling

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The doctor has been to attend to an urgent case
Options:

1) called

2) called in

3) called by

4) call over

Correct Answer: called

Candidate Answer: called by

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To nip in the bud

Options:

1) To stop something at the start

2) To trim the flowers

3) to pluck the flowers

4) to steal from

Correct Answer: To stop something at the start

Candidate Answer: to pluck the flowers

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To put a spoke in one's wheel
Options:

1) To repair one's cycle

2) To hinder

3) To trip a rider

4) To add an extra wheel
Correct Answer: To hinder

Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To clip one's wings

Options:

1) To stop one from flying

2) To trim the leaves

3) To deprive one of power

4) To hurt a bird

Correct Answer: To deprive one of power

Candidate Answer: [ NOT ANSWERED ]

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

An act of travelling from one place to another
Options:

1) Series

2) Journey

3) Sequence

4) Programme

Correct Answer: Journey

Candidate Answer: Programme

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The thing no longer in use
Options:

1) Obstacle

2) Obsolete

3) Obsidian

4) Obstruction



Correct Answer: Obsolete
Candidate Answer: Obsidian

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Misappropriation of money
Options:

1) Embezzlement

2) Robbery

3) Theft

4) Fraud

Correct Answer: Embezzlement

Candidate Answer: Embezzlement

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The Vice Chancellor congratulated the blind student for his success in the examination
Options:

1) in his

2) on his

3) over his

4) No improvement

Correct Answer: on his

Candidate Answer: on his

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

I am sorry but I will not believe the story you have told me
Options:

1) do not believe

2) am not believed

3) have not believed

4) No improvement

Correct Answer: do not believe

Candidate Answer: do not believe

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Due to the fall in real estate prices builders have stopped from constructing multi-storeyed office buildings
Options:

1) at constructing

2) to constructing

3) stopped constructing

4) No improvement

Correct Answer: stopped constructing

Candidate Answer: stopped constructing

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Not having practised his lines he cut an angry figure on the stage
Options:

1) cut a confused figure

2) cut a sorry face

3) cut a sorry figure

4) No improvement

Correct Answer: cut a sorry figure

Candidate Answer: cut a sorry figure

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

My brother would gladly given you his car if you had asked him.
Options:

1) would gladly give

2) would have gladly given

3) would gladly gave

4) No improvement

Correct Answer: would have gladly given

Candidate Answer: would have gladly given



Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Ants have been living on the earth for more than 100 million years and can be found almost anywhere on the planet. It is estimated that there are about 20000
different species of ants. For this reason ants have been called Earth's most successful species. If you watch ants for any length of time you will see that they really
do communicate with each other and very effectively too. Ants communicate by touching each other with their antennae. Ants also use chemicals called pheromones
to leave scent trails for other ants to follow. Ants build many different types of homes. Many ants build simple little mounds out of dirt or sand. Other ants use small
sticks mixed with dirt and sand to make a stronger mound that offers protection from rain. Western Harvester ants make a small mound on top, but then tunnels up
to 15 feet straight down to hibernate during winter. Ant mounds consist of many chambers connected by tunnels. Different chambers are used for nurseries, food
storage, and resting places for the worker ants. Some ants live in wood like termites. Army ants don't make a home at all but travel in a large groups searching for
food. Ants are social insects which means they live in large colonies or groups. Some colonies consist of millions of ants. There are three types of ants in each
species, the queen, the sterile female workers and males. The male ants only serve one purpose, to mate with future queen ants and do not live very long. The
queen grows to adulthood, mates, and then spends rest of her life laying eggs. A colony may have only one queen, or there may be many queens depending on the
species. Ants go through four stages of development: egg, larva, pupa and adult.

Why are ants called the 'Earth's' most successful species?

Options:

1) Because they have been on earth for more than a 100 million years

2) Because they can be found anywhere on earth

3) Because they have been on earth for more than a 100 million years and because they can be found anywhere on earth
4) Because there are 2000 different species of ants on earth

Correct Answer: Because they have been on earth for more than a 100 million years and because they can be found anywhere on earth
Candidate Answer: Because there are 2000 different species of ants on earth

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Ants have been living on the earth for more than 100 million years and can be found almost anywhere on the planet. It is estimated that there are about 20000
different species of ants. For this reason ants have been called Earth's most successful species. If you watch ants for any length of time you will see that they really
do communicate with each other and very effectively too. Ants communicate by touching each other with their antennae. Ants also use chemicals called pheromones
to leave scent trails for other ants to follow. Ants build many different types of homes. Many ants build simple little mounds out of dirt or sand. Other ants use small
sticks mixed with dirt and sand to make a stronger mound that offers protection from rain. Western Harvester ants make a small mound on top, but then tunnels up
to 15 feet straight down to hibernate during winter. Ant mounds consist of many chambers connected by tunnels. Different chambers are used for nurseries, food
storage, and resting places for the worker ants. Some ants live in wood like termites. Army ants don't make a home at all but travel in a large groups searching for
food. Ants are social insects which means they live in large colonies or groups. Some colonies consist of millions of ants. There are three types of ants in each
species, the queen, the sterile female workers and males. The male ants only serve one purpose, to mate with future queen ants and do not live very long. The
queen grows to adulthood, mates, and then spends rest of her life laying eggs. A colony may have only one queen, or there may be many queens depending on the
species. Ants go through four stages of development: egg, larva, pupa and adult.

Antennae are used by ants to
Options:

1) leave a trail for other ants
2) communicate

3) find direction

4) touch and feel each other

Correct Answer: communicate
Candidate Answer: leave a trail for other ants

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Ants have been living on the earth for more than 100 million years and can be found almost anywhere on the planet. It is estimated that there are about 20000
different species of ants. For this reason ants have been called Earth's most successful species. If you watch ants for any length of time you will see that they really
do communicate with each other and very effectively too. Ants communicate by touching each other with their antennae. Ants also use chemicals called pheromones
to leave scent trails for other ants to follow. Ants build many different types of homes. Many ants build simple little mounds out of dirt or sand. Other ants use small
sticks mixed with dirt and sand to make a stronger mound that offers protection from rain. Western Harvester ants make a small mound on top, but then tunnels up
to 15 feet straight down to hibernate during winter. Ant mounds consist of many chambers connected by tunnels. Different chambers are used for nurseries, food
storage, and resting places for the worker ants. Some ants live in wood like termites. Army ants don't make a home at all but travel in a large groups searching for
food. Ants are social insects which means they live in large colonies or groups. Some colonies consist of millions of ants. There are three types of ants in each
species, the queen, the sterile female workers and males. The male ants only serve one purpose, to mate with future queen ants and do not live very long. The
queen grows to adulthood, mates, and then spends rest of her life laying eggs. A colony may have only one queen, or there may be many queens depending on the
species. Ants go through four stages of development: egg, larva, pupa and adult.

What does the Western Harvester do in winter ?
Options:

1) It travels

2) It builds different types of homes

3) It hibernates

4) It searches for food

Correct Answer: It hibernates

Candidate Answer: It searches for food



Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Ants have been living on the earth for more than 100 million years and can be found almost anywhere on the planet. It is estimated that there are about 20000
different species of ants. For this reason ants have been called Earth's most successful species. If you watch ants for any length of time you will see that they really
do communicate with each other and very effectively too. Ants communicate by touching each other with their antennae. Ants also use chemicals called pheromones
to leave scent trails for other ants to follow. Ants build many different types of homes. Many ants build simple little mounds out of dirt or sand. Other ants use small
sticks mixed with dirt and sand to make a stronger mound that offers protection from rain. Western Harvester ants make a small mound on top, but then tunnels up
to 15 feet straight down to hibernate during winter. Ant mounds consist of many chambers connected by tunnels. Different chambers are used for nurseries, food
storage, and resting places for the worker ants. Some ants live in wood like termites. Army ants don't make a home at all but travel in a large groups searching for
food. Ants are social insects which means they live in large colonies or groups. Some colonies consist of millions of ants. There are three types of ants in each
species, the queen, the sterile female workers and males. The male ants only serve one purpose, to mate with future queen ants and do not live very long. The
queen grows to adulthood, mates, and then spends rest of her life laying eggs. A colony may have only one queen, or there may be many queens depending on the
species. Ants go through four stages of development: egg, larva, pupa and adult.

What kind of homes do the army of ants build ?

Options:

1) Simple little mounds made out of dirt or sand

2) Stronger mounds of small sticks mixed with dirt and sand
3) Small mounds on top but with tunnels upto 15 feet below
4) They do not make homes but travel in search of food

Correct Answer: They do not make homes but travel in search of food
Candidate Answer: Simple litle mounds made out of dirt or sand

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Ants have been living on the earth for more than 100 million years and can be found almost anywhere on the planet. It is estimated that there are about 20000
different species of ants. For this reason ants have been called Earth's most successful species. If you watch ants for any length of time you will see that they really
do communicate with each other and very effectively too. Ants communicate by touching each other with their antennae. Ants also use chemicals called pheromones
to leave scent trails for other ants to follow. Ants build many different types of homes. Many ants build simple little mounds out of dirt or sand. Other ants use small
sticks mixed with dirt and sand to make a stronger mound that offers protection from rain. Western Harvester ants make a small mound on top, but then tunnels up
to 15 feet straight down to hibernate during winter. Ant mounds consist of many chambers connected by tunnels. Different chambers are used for nurseries, food
storage, and resting places for the worker ants. Some ants live in wood like termites. Army ants don't make a home at all but travel in a large groups searching for
food. Ants are social insects which means they live in large colonies or groups. Some colonies consist of millions of ants. There are three types of ants in each
species, the queen, the sterile female workers and males. The male ants only serve one purpose, to mate with future queen ants and do not live very long. The
queen grows to adulthood, mates, and then spends rest of her life laying eggs. A colony may have only one queen, or there may be many queens depending on the
species. Ants go through four stages of development: egg, larva, pupa and adult.

What is the purpose of male ants ?

Options:

1) To lay eggs

2) To protect the colony

3) To mate with future queen ants

4) To live a long life

Correct Answer: To mate with future queen ants

Candidate Answer: To mate with future queen ants



